



Navn: _____

Dato: _____ Score: _____

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{3}\right)^0 - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right) - \frac{1}{6} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{5} =$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) =$$



Navn: _____

Dato: _____ Score: _____

$$\left(\frac{3}{4}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{59}{64}\right)$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{69}{320}\right)$$

$$\left(\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{141}{250}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{6}\right) = \frac{11}{12}$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{4} = 1$$

$$\left(\frac{3}{4}\right)^3 + \frac{1}{5} = \frac{199}{320}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{74}{125}\right)$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{19}{150}\right)$$

$$\left(-\frac{1}{3}\right)^2 - \frac{1}{5} = \left(-\frac{4}{45}\right)$$

$$\left(\frac{1}{3}\right)^0 - \frac{2}{5} = \frac{3}{5}$$

$$\left(\frac{3}{5}\right) - \frac{1}{6} = \frac{13}{30}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{4} = \frac{1}{2}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{3}\right) = \frac{13}{12} = 1\frac{1}{12}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{5} = \left(-\frac{13}{40}\right)$$

$$\left(-\frac{3}{5}\right)^2 + \frac{1}{4} = \frac{61}{100}$$

$$\left(-\frac{3}{4}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{145}{192}\right)$$

$$\left(-\frac{2}{5}\right) + \left(-\frac{3}{5}\right) = (-1)$$